[ Efficiency vs vertpos |

—_

0.16f
20.16f
2 0.16F
0.14F
0.12F

0.1k
0.08f:
0.06
0.04f
0.02F

[9)
c
o

)
=
)

Ratio

Efficienq ——

N 0. ; ; ; ;
L e s S S
Y : : ] : :
;0.08— ------ R ART
T ST LT S M S
EO-OG— """ + """ """ + """" prrenees
o : : :
0.05F------ R S R prreneer
0.04 -~ """" """" P
0,03 ++-wboor b b
e T o S e
YL S —
e

5
c
o

Ratio

0.2

1.0

o
©
a

,_
—
H
-
<>

[EnN
2
N
=
N
[y

[y

E|||llllu§ullll|||§

||“““E””I||||E

o

13
oS
S

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n 0.2
> : : : : : : :
T S e e

£

efticie

L R A S s
e T S R
> E : : : : : :

o R At S L O S
SO THR SIS SRS MO S e
0.08F -+ RS PEE :
e . 3
T S RS e
T O RS SOte e N s e

-20 -10 0 10 20 30

Sim. PV z (cm)




	Contents
	Page 1


